NOTES:
| ALL DIMENSIONS +/- | OMM UNLESS NOTED

2. DIMENSTONS SHOWN ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED.

BE/ZEL WITH WIPER-BLADE SEAL

THTLE: BT TO3TL-XXKA-X-G

47 .1

(44 1TMAX)
-ACCUTOUCH
-INTELLITOUCH
-SURFACE CAPACITIVE

05D CONTROLS

&) ® < - T S —— , =
\‘ L ] uau‘aizgﬁkﬂg - 5 0000000
@(C ) J 0 O \gﬁ © 000 <c>|g\ @éi; O0000O0 ®
0 OO0 Y d OO
© ©® O
1) 000 — 000
H 1) 00O O 00
1) |]o o0 00 Of
304 | o Illoes 00O 000
(ACTIVE AREA) L " loo0o0 © || ©@ O 000
, 5 :
o © f ©
©
© ©
- 228 | - 264 4 C)1
(ACTIVE AREA) 11
(CENTERING LIP) 00O 000
o © 00O ) 5 000
E;,a 00O 0 ° 9o}
00O © © 000
o 00O 000
©
h_\ O___JWU U—JWm O_0w ,_ﬂ
(@] - —l (@]
!
||l 3 ) - o g Hu |
| | 0 o)
336 4 SEE DETAIL A
(CENTERING LIP)
REMOTE 0OSD
OPTIONAL: OSD REMOTE P/N E483757
(ORDER SEPARATELY)
USB TOUCH

DIMENS TONS ARE IN MILLIMETERS

I L1
\

DETAIL A
(CENTERING LIP)
SCALE 2.000

SERTAL TOUCH

BLEL

\

7

3

12V POWER
—
__ oL
e M
lL L :

SHeel [ OF 9

MS600159

DATE: 10-20-2014

REV: K




THTLE:

ELTO3TL-XXKA-X-G

IR OPTION
© @
7 N

I
& 24PN
€] &)

DIMENS TONS ARE

I[N MILLIMETERS

HEN

o

L)
j

o]

440
(46.0 MAX)

SHEE T 2 OF 9

MS600159

DATE: 10-20-2014

REV: K




THTLE: BT TO3TL-XXKA-X-G

SECURETOUCH OPTION

iy

JL

e

DIMENS TONS ARE

I[N MILLIMETERS

HEN

o

J

43 .1
(45,7 MAX)

SHEET 3 OF 9

MS600159

DATE: 10-20-2014

REV: K




THTLE: BT TO3TL-XXKA-X-G

RECOMMENDED CUSTOMER
PANEL CUT-OUT ¢see note a)

347 4 NOTE A
CUSTOMER PANEL MATERIAL:
R6.0, 3140+ /-0 . WOOD: 4.5 HOLES THRU
M + + FOR M4 SCREWS W/NUTS,
\Xx, ‘ OR, NO TH;& HOLES . SCREWS
| FOR WOOD & 4mm.
| ) ! VESA MOUNT SIDE MOUNT, VERTICAL
2 SHEET METAL: CONCEALED HEAD
THREADED STUDS M4 W/NUTS.
T f +
NOTE B
clo.4 = 100.0 —= M4 THREAD.
MONITOR INCLUDES 2 BRACKETS, — 75— MAX . SCREW DEPTH Tmm
238.0 +1/-0 ADD I TIONAL BRACKETS AVAILABLE. |
PN E203787 ]
144 0 - - - _ + _ _ _ -
NOTE € o :
272 mm = SECURE TOUCH AND IR o0 "
00O "
00O " E
00O "
Z 000 )
: + + Looo “E§3
| 0
) | ’ | 6.0
+ + 1000 -
L&AA.O ~J
B i
REAR MOUNT WITH BRACKETS, 64.
HORIZONTAL AND VERTICAL (SEE noTE B) %
MOUNT ING BRACKETS
ACCOMMODATE MAX. | 4mm
MATERIAL THICKNESS. 294
357 4 (SEE NOTE C)

SIDE MOUNT, HORIZONTAL

o) 0
00 % 00 D45
000 000 X2
000 ©00
)0 00 ooof
[looo 0 0 Of
[eleNe 000} BRACKET IN
HOR I ZONTAL POSITION, = | 6.0 ——=
285 1 e cEde Og -=»
——— ¢ > ——
T 0 s
LZ&A
(SEE NOTE C)
BRACKET IN VERTICAL POSITION. EIII
MS600159
DIMENSTONS ARE IN MILLIMETERS SHEET 4 OF 9 DATE: 10-20-2014
REV: K




BLACK ANODI/ZE FINISH—

THTLE: BT TO3TL-XXKA-X-G

FRONT MOUNT OPTION
P/N E323425

(FOR BRACKETS
I[N HORITZ.POSITION)

373 4 (ORDERED SEPERATLY, CUSTOMER ASSEMBLED)
RT3
X 4
f\ X ]
(7 A
]
D
Z
Z4
301 .4
]]
]]
oM
]
COIN
FRONT MOUNT BRACKETS (2)
(INCLUDED WITH FRONT MOUNT ASSY.)
S 7/
| el )
CUSTOMER PANEL CUT-0OUT 15 MAY NOTE -
AND MOUNTING HOLES ¢ X 4 . IF CUSTOMER PANEL MATERIAL IS WOOD:
‘ @4 Smm HOLES THRU FOR M4 SCREWS,
| / 55 0 OR NO THRU HOLES, SCREWS FOR WOOD & 4mm.
| |
+ + 7 X4 2. |F CUSTOMER PANEL MATERIAL IS SHEET METAL:
CONCEALED HEAD THREADED STUDS M4 WITH NUTS.
3134
(FOR BRACKETS
+ + IN HORIZ. POSITION)
(o] 0
eo N\ o R S 0 022
00 000
o o oool
O O Q00
oo oooy
+ +
284 .4 41 .0 284 4 324 .4
+ + /
\
|
356.4 4|
385 . 4 — =
(FOR BRACKETS [N
VERT. POSITION)

DIMENS TONS ARE IN MILLIMETERS

396 .4

(FOR BRACKETS

[N
VERT.POSOTION)

ETIO3TL

CUSTOMER PANEL;
FRONT MOUNT BRACKETS ACCOMMODATE
MAX .

[ Amm MATERTAL THICKNESS.

ocecoco

[-X-X-N- NN
ecocoecoe

MON I TOR

MS600159

SHEET 5 OF 9

DATE: 10-20-2014

REV: K

FRONT MOUNT ASSY.




JLACK ANODI/E

482 .6

THTLE: BT TO3TL-XXKA-X-G

RACK MOUNT OPTION
P/N E295006

(ORDERED SEPERATLY, CUSTOMER ASSEMBLED)

146 .0
266.0

34 .88
A7 2-43 .1
D
O ?
&
"
0
0
O - Eam
@inl
M /;:: I{Av== (T
| [ 1%
/
399.0
O
O
-

4650

DIMENS TONS ARE

I[N MILLIMETERS

SHEE T © OF 9

MS600159

DATE: 10-20-2014

REV: K




361.70+0.40
(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

THTLE: BT TO3TL-XXKA-X-G

ITOUCH MODELS ONLY

285.00
(EDGE OF GLASS)

305.60

(ACTIVE AREA)

229.60
(ACTIVE AREA)

288.604+0.40
(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

I

358 .10

J
x\gR.8OiO.3O

(EDGE OF GLASS)

BAABA:

OPTTONAL O5D REMOTE P/N EA83707

(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

(ORDERED SEPARATELY)

DIMENS TONS ARE

I[N MILLIMETERS

[8.80 —=

200.00

286 .01

=

(Max .

41 .50 =m—
43.5 mm)

M4 THREAD, M4 THREAD,

MAX. SCREW DEPTH 6mm FROM MAX . SCREW DEPTH 7mm FROM

MOUNTING SURFACE, x8 MOUNT ING SURFACE,

“_»rlj1"j \

eeeeees
O/ 000000 |

: FO T
e —— .

o o000 olld

=)

oCQP®pOO0OOO
OO @0

Jdooeo.
dGe o000

X3

o NeNeNoRoNoN
GQOOOC0O0 6@

213.6

715.0000.00

VESA MOUNT / 51Dt MOUNT (VERTICALEHORT/ZONTAL)

RJ-45 03D
/CONNECTOR

2V DC
POWER N\
5 @@
‘ il

USE R232 SERTAL
CONNECTOR
(COVERED FOR MULTI-TOUCH)
MS600159

SHeEel [ OF 9

DATE: 10-20-2014

REV: K




398.03

(EDGE OF BE/ZEL)

THTLE: BT TO3TL-XXKA-X-G

PROJECTED CAPACITIVE MODEL ONLY

—= =— 39.00

(Max. 41mm)

284.93
(EDGE OF BE/ZEL)

305, 10
(ACTIVE AREA)

(ACTIVE AREA)

22910

A

MAX .

M4 THREAD,
SCREW DEPTH 6mm

FROM MOUNTING SURFACE, x8

200.00

288.604+0.4 286 .01 213.6
(CUT-OUT DIMS. FOR

CUSTOMER PANEL)

6.0

361.710£0.4

(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

X\\\*AR.8O£O.3

(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

VESA MOUNT / S1DE MOUNT

O0O0O0O0O0C :

M4 THREAD,
MAX. SCREW DEPTH 7mm

76 00 FROM MOUNTING SURFACE, x8
p—2g E : © —
I - epeoees
] [cooo olld é;ﬁooooo ol.
© ’ S oofe
00 000
06 e © ® |o00
¥ S 2338
© o 800
00 Q— G g
@ o \%/4 © )
o |
© © 750 100.0
00O 000 $
P 0 000
000 © ‘§9 cjoc)o
000 o 000
~ - - mL__Jmﬂﬁ—~ML1 (11| F— 1 _
F k§ 94 |
i B Hu _|
© — L
~— [5. () —=
~—— [00. 0 ——=
346 .1

(VERTICALSHORT/ZONTAL)

oEp [

DIMENS TONS ARE

I[N MILLIMETERS

-

[ 7.80

MS600159

SHEE T & OF 9

DATE: 10-20-2014

REV: K




ITOUCH MOUNT INSTALLATION

SECTION A-A

SCALE

. 500

M L

s

—1

i |

%

/ / 44,\_00
| (RECOMMENDED OFFSET
| TOUCH SCREEN OF iTOUCH SCREEN

FOAM SEAL

SURFACE)

THTLE:

ELTO3TL-XXKA-X-G

iTOUCH / PROJECTED CAPACITIVE MODELS
MOUNTING WITH ADJUSTABLE FLUSH BRACAETS

(4 ATTS PROVIDED)

PCAP MOUNT INSTALLATION

INSTALLATION NOTES:

SECTION
SCALE

===k

AN

& .

3.

ATTACHED BRACKET "A" TO CUSTOMER PANEL "C"

PER DRAWING .

ATTACHED BRACKET "B" TO BRACAET "A"
HEX HEAD SCREWS "B-1°

PLACE TOUCH MONITOR

WITH M4
CINCLUDED ).
INTO CUSTOMER PANEL

OPENING, TAKING CARE NOT TO DAMAGE FOAM SEAL.

FOR 1 TOUCH MODELS,

ADJUST DEPTH OF BRACKETS
"B" SO MONITOR IS SLIGHTLY PROTRUDED OF
CUSTOMER PANEL CIMM).

FOR PCAP MODELS, ADJUST DEPTH OF BRACKETS "BF

=7

PCAP TOUCH SCREENJ%

FOAM SEAL

RCCOMMENDED CUSTOMER PANEL CUT-OUT

31

384 .8
98 0
THROUGH HOLE
@45 FOR M4
— THREADS ON
<<:/”" 78 BRACKET, x4
. —
X 4
\ o0
% 7 N
96 7 301 .70£0.40
A : ?
98 0

THROUGH HOLE @ 4.5
FOR M4 THREADS ON
BRACKET, x4

ﬂz

4-R11.8040.30

DIMENS TONS ARE |

N MILLIMETERS

— 0
(RECOMMENDED FLUSH

WITH PCAP SCREEN SURAFCE)

CUSTOMER PANEL:
MIN THICANESS
MAX THICANESS

3mm
Imm

MOUNTING HOLES, x4

| CUSTOMER PANEL S METAL,

BLIND HOLE,M4 THREADS

Z)
SO MONITOR IS FLUSH WITH CUSTOMER PANEL.
5. SECURE TOUCH MONITOR TO BRACKET "B" +"A" FROM
BEHIND WITH M4 HEX HEAD SCREWS "C-1" (INCLUDE).
A-A
1500
.[1E<£]
4 —1

eeeee86886
O00CO0OO0COO0

1
()] )
000 ® Tooo
00® H ® |e0o0
000 @ QOO0
oeo 290
000 ® 030%0
® o
©
325.6 134 ° °©
000 Al 000
000 o) ©) Q00
:?ggz as33@ls
(oM o~ o 000
go u j o
B . Bl H ] ,
| G iéé%ﬁS — ~
oo
(\\\\\\\\\\ ff——*"T?irfaaffﬂ——;;—__—__——-55\\\\\\\\\\
v

SHEET 9 OF 9

MS600159

DATE: 10-20-2014

REV: K




	Sheet 1
	Views
	new_view_44
	right_44
	right_45
	bottom_46
	A


	Sheet 2
	Views
	new_view_145
	right_146
	bottom_147


	Sheet 3
	Views
	main_view
	right_106
	bottom_106


	Sheet 4
	Views
	main_view
	new_view_59
	right_59
	bottom_59
	new_view_137
	left_138


	Sheet 5
	Views
	new_view_114
	new_view_139
	right_140
	new_view_142
	new_view_143
	new_view_144


	Sheet 6
	Views
	new_view_133
	right_134
	bottom_135


	Sheet 7
	Views
	new_view_1
	right_2
	right_3
	new_view_5
	new_view_11


	Sheet 8
	Views
	new_view_7
	right_8
	right_9
	bottom_10


	Sheet 9
	Views
	new_view_13
	new_view_14
	new_view_15
	new_view_16
	new_view_17
	new_view_18
	new_view_19
	new_view_20



